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BSCCH-101/CH-01
Inorganic Chemistry-I/sEf® wrA

Bachelor of Science (Chemistry)
BSC - 12/16/17

First Year, Examination-2019
Time: 3 Hours Max. Marks : 40

Note : This paper is of forty (40) marks containing three
(03) Sections A,B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given there in.

Ae: I8 YT UF A (40) IR 1 7 S A9 (03) WUl W,
@ a1 H fawfea €, fenfe &1 g @l § K W
foega el & o ER & ue i % IW A T

Section-A/@Ug- ‘&%’
(Long Answer Type questions) ( €id ST a1t W9+ )

Note: Section ‘A’ contains four (04) long answer type
questions of nine and half (9%) marks each.
Learners are required to answer two (02) questions
only.

Me:  woe ‘'w' § 9r (04) < STl g R W R, e g
% fog @@ A (9%) i Tawuifa €, foenfeai =i e @
Had 3 (02) Gl % I A B
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1 Define Quantum number. Describe all the four
quantum numbers. Write all the four values of
quantum numbers for the last electron of potassium.
(atomic number of potassium is 19)

FATeH T Sl IREIGG Hifed, 9t 9l Fared st &
Ui FIR, TP (WA FAE 19) F A sewH
F IR Faen e fated|

2 What do you understand by polarizing power and

polarizability of ions. Describe the different factors

affecting it.
A HT YA SHAl F ygal ¥ T HHSd oI, AR

yuifad s ol fafy= sRehl &1 JuF S|

3 Write a brief note on the following
(a) Anomalous behavior of Li
(b) Role of Na* and K* in biological system

(e) Fluorides of Xenon.

frefafea w wfara femof Sifsm)

(31) <A™ &1 TAE FTReR
(9) S o5 § Na+a K+ 3FA0 &1 a9eH
(F) SAF & FARIES

4 Why is diborane classified as an electron deficient
molecule? Give two method for the preparation of
diborane. Discuss the structure of diborane.

SRR Wi TR 1 HH! o AT F el Wl g,
TERAA s h1 @ fafei w1 9ol #ISE e 3Ee!
TEA % R H adrEd|
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Section-B/@us-‘@’
(Short Answer Type Questions) /(g ITHT UFT )

Note: Section ‘B’ contains eight (08) short answer type
questions of four (04) marks each. Learners are
required to answer four (04) questions only.

A @ue '@’ H e (08) o Swd WA U T 7| yeiw wed
% fau =R (04) ok Fruffiq 2, forenfefal & 39 @ waat
IR (04) Tl F W A R

1. Explain the shape of I cl2, SF4, NHs and H3O*on the
basis of valence shell electron pair repulsion
(VSEPR) theory.

I clo, SF4, NH;s and HsO* 310[3ti &1 Tehfa i Harsehdl
FHIV ToideM I Gfawutl fagm & STuR W aHemsd |

2. Write a short note on any two of the following

(a) Physical significance of ¥ and 1?2
(b) Hund’s rule

(c) Shapes of s, p and d orbitals

= ° 9 frel & W dfaa feooft fafes
(31) v 3R 2 1 ifds Tew

(9) gUs 1 f19H

(9) s, pd dHEhRl I 3R
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3. Explain why LiCl is covalent where as NaCl is ionic
in nature.

ey = LiCl 9e9dist g1 Safe NaCl smafies Aifies
2

4. What are interhalogen compounds. Explain in
detail.

=R BedlsH AfTes &1 Bid ©? faer @ wwesd|

5 Why do non-metal have a greater electron affinity
than metal atoms.

TG AT T Sl Sl WTq WHIS W Ak Al

Bt 7

6. Draw molecular orbital diagram for NO molecule
and mention its bond order as well as magnetic
behavior.

NO =19 & ferd MO fo3 smfeq =ifsd wd @t s+
Fife & WA-TA Tohd HTER T

7. Explain why nitrogen forms only NCls but
phosphorus forms PCls and PCls both

e HIfE RS WA Had NCls a9m@r 8 Sfh
FERRE W] S PCls 9 PCls

8. What are carbides? How many types of carbides be
classified?
FEized 1 8?7 fhad YHR W heisgd 1 aifiehLor faman
S TRl B
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SECTION C /gus-T’
Objective Type Question / T U9

Note: Section ‘C’ contains ten (10) objective type questions
of half (2) mark each. All the questions of this

section are compulsory.

de:  @uE ‘' W g9 (10) TS W R T B Yo W &
fou wF (%) % fuifa €, 39 @ve & w+fi yea s
2l

1. The outer most electronic configuration of copper
(29) is

(a) 3d#4s? (b) 3d?4s? (¢) 3d94st (d) 3d1o4st

W (29) 1 AEIATH HIY ST (&9 B

(a) 3d*4s! (b) 3d%4s! (c) 3d%4s! (d) 3d104s!

2. Atomic radii of elements in the periodic table from
right to left
(a) decreases (d) increases
(¢) remains constant (d) None of these

Y] e oTed WReft B I ¥ 9 SH W

(a) Tt B (b) st &
(c) Teer &t 2 (d) =™ & =g &
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3. Bond energies in NO, NO+ and NO- are such that
(a) NO>NO*>NO- (b) NO->NO>NO+
(¢c) NO*>NO->NO (d) NO+>NO>NO-
NO, NO*a NO-H a4 &sfl &l %H 2

(a) NO>NO*>NO- (b) NO->NO>NO+
(¢) NO*>NO>NO (d) NO*>NO>NO-

4, Which of the following statement is not correct for
diborane?

(a) It is an electron deficient molecule
(b) It has bridge structure
(c) It is paramagnetic molecule
(d) It has 3-center 2 electron (3c-2¢) bond
TEARA % fad S @ FoF T T F?
(31) 98 Teh TIaRM i HHl aren Aifieh 2l
(9) THHT W G 2
(§) & TH ALEHE A €
(2) 29 99 %5 & oM a8 (3c-2c¢) B B
5. Aluminium chloride exists as deiner, Al2Cls in solid

state as well as in solution of non polar solvents.
When dissolves in water gives.

(a) AI3++3Cl- (b) [AI(H20)6]3*
(c) [Al(OH)g]*> +3HC1 (d) Al2Os+*6HCl
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Tt e 5o AlCls® w9 # 3 sEen §
STy faetmaet o foer 7, o § Hie 9M W 98 <@ 2

(a) AI3++3Cl- (b) [Al(H20)6]3+

(c) [AI(OH)s]? +3HC1 (d) Al203*6HCl
6. Sulphur reacts with HNOs to form

(a)H2S0s (b) H2S04

(c) SO2 (d) SOs

Hewl HNOs 9 f3a & o971 ot 21

(a)H2S0s3 (b) H2SO4
(c) SO2 (d) SOs
7. If one cation and one anion are missing from their

position in a crystal lattice, the defect produced is
(a) Schottky defect (b) Frenkal defect
(c) n-type defect (d) p-type defect

Ffe forelt forteet Soteh § Tk oA 3 Tk SBOMeH STt
fearfq @ srqufeed e ® @ 98 I wEdw 2l

(a) TEfH T (b) Tkl 3
(c)n - TR JH (d) p - ¥R =W
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8. Silicon hydrides are
(a) Ionic hydride (b) Covalent hydride
(c) Metallic hydride (d) Complex hydride

fafere™ e=gEs 2l

(a) S TEIRES (b) TRHASH TSRS

(c) Hfcereh BEERS (d) vifet e1zgIRe
9. Among these pentoxide, the strongest oxidizing

agent is

(a) N20s (b) P20Os

(c) AS205 (d) Sb20s5

T U i o T SRRl afuehten €

(a) N20s (b) P20Os

(c) AS205 (d) Sb20s5
10. Shape of XeOF4 is

(a) Octahedral (b) Square pyramidal

(c) Pyramidal (d) T-shaped

XeOF %! amepfa 21

(a) STEHEADI (b) =t faufis

(c) foufoe (d) T - 3=

kiR sk
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